% (1] SFFREFKHER () B

- ok B 1

KERERE 10858 (%) 178005 RTILIYE2—LEIY £8

215 . SHHEY DHRIKEG

10A68 (H) 10A78 (R) 10888 (k) 1098 (K)
1 [E15 HE R B "&H RB

F£1HE 8:30 10:00 10:00
E2HE 11:00 13:00
EIHE 13:30
E4RE 16:00
B ot =X L
3fkE X 10A78 (A) HERBETH

® ¥ X 1098 OK) RESE#RRT R




S FRERBRRESE

10568 (H)» 510898 (k) FT4HEE

RIG EHHEY DHBKIG
[ ] EARYbFUNR—

[(FEXDER]
10A9H
10:00
(7]
ES %
10878 10878
10:00 13:00
(5] (6]
3frEEk 3R
10868 10868 10868 10868
8:30 11:00 13:30 16:00
(1] (2] (3] (4]
[a]
B
©) @ ® @ ® ® @ ®
5 B I 5 B X £l B
# = 1 1& it £ "
12
H #
i % X # # e %
=] - 2 T e # & e
&
= % - e & & B = B
5] R
e R n B 0 i) e #B B
2



